NISOC

S G TSR RVORIVS JE IR ) BCIY RYA GRS

Q’)yréﬂ’”

Sip g5l gor 8ol 53 58 (ST o, ls

IQ% ‘UW

053-073-9184

PIPING ASSEMBLY DRAWING

ouS olo | oM ges sy |8 &

PEDCO Pl DW

RECUSRIVARW PCRC U ) PR VS G

PIPING ASSEMBLY DRAWING

NOV.2023

IFA

A.KHOSRAVI M.FAKHARIAN

S.FARAMARZPOUR

D00 MAY.2023

IFC

M.Noori M.FAKHARIAN

A.M.MOHSEN]

REV. DATE

PURPOSE OF ISSUE/STATUS PREPARED BY: CHECKED BY:

APPROVED BY:

COMPANY APPROVAL

CLASS: 1

CLIENT Doc. Number: F1L-708892

STATUS:

IDC: Inter—Discipline Check

IFC: Issued For Comment

IFA: Issued For Approval

AFD: Approved For Design

AFC: Approved For Construction

AFP: Approved For Purchase

AFQ: Approved For Quotation

I[Fl: Issued For Information

AB—R: As—Built for COMPANY Review
AB—A: As—Built — Approved




A S s ol ads Bl s e lago o5 5 @‘
. . N
oS e
NISOC S gl @ oBal 5o S8 (STscas ;) Bt @gg E
tolesy 05l PIPING ASSEMBLY DRAWING
053-073-9184 o5z [ an]owS ol e |y [Sps] b | o 56 51 2 samdeo)l
Bk | ccs |peco | 120 | P pw | 0002 | Dot
REVISION RECORD SHEET
PAGE NO.|  DOO DO D02 DO3 | PAGE NO.|  DOO DO D02 DO3
1 X X 48 X X
2 X X 49 X X
3 X X 50 X X
4 X X 51 X X
5 X X 52 X X
6 X X 53 X X
7 X X 54 X X
8 X X 55 X X
9 X X 56 X X
10 X X 57 X
11 X X 58 X
12 X X 59 X
13 X X 60 X
14 X X 61 X
15 X X 62 X
16 X X 63 X
17 X X 64 X
18 X X 65 X
19 X X 66 X
20 X X 67 X
21 X X 68
22 X X 69
23 X X 70
24 X X 71
25 X X 72
26 X X 73
27 X X 74
28 X X 75
29 X X 76
30 X X 77
31 X X 78
32 X X 79
33 X X
34 X X
35 X X
36 X X
37 X X
38 X X
39 X X
40 X X
41 X X
42 X X
43 X X
44 X X
45 X X
46 X X
47 X X

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol wd s LR PR KW PSP @‘
h

NISOC ;Kgggé)ﬂé,@-o@T)g )SOSTJ;;@;)QDQT @gg E

:OL*.‘.% °)LQJ‘ PIPING ASSEMBLY DRAWING
053-073-9184 255 |l oS ol [ ol |ty | Sk p] S | e 56 51 8 randoo,ls
BK GCS PEDCO 120 Pl DW 0002 DO1
TABLE OF CONTENTS

T INTRODUCTION oo e e e 4
2—GENERAL DEFINITION oot oo e e, 4
S—RELATED DOCUMENTS ..ot e oo e e 4
4—PRESSURE GAUGE / TRANSMITTER ... s oottt oo 5
5—PRESSURE GAUGE / TRANSMITTER (VESSEL MOUNTED ). ot eos oot 7
6—PRESSURE DIFFERENTIAL GAUGE / TRANSMITTER .viviiriiviits oot oo oo 9
7—PRESSURE DIFFERENTIAL GAUGE / TRANSMITTER (VESSEL MOUNTED)

8—TEMPERATURE  GAUGE / TRANSMITTER. ... et eeeteeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee
9—TEMPERATURE GAUGE / TRANSMITTER (VESSEL MOUNTED) ... icotieeeteteees oot 14
T0=DP CELL FLOW TRANSMITTER (GAS) ..o oot e 16
11=DP CELL FLOW TRANSMITTER (LIQUID) oveireeieseeee e oo oot 18
12—PROCESS VENT & DRAIN FOR 11/2” AND SMALLER LINES.. .. totoos oo oo oo, 19
13—25—PROCESS VENT & DRAIN FOR 27 AND LARGER LINES .ooiiiiotoeesoeot oo 21
14—HYDROSTATIC VENT & DRAIN FOR 11/2” AND SMALLER LINES .o.iii oo 23
15—HYDROSTATIC VENT & DRAIN FOR 2" AND LARGER LINES 25
16—DIFFERENTIAL PRESSURE LEVEL TRANSMITTER (VESSEL MOUNTED) 27
17—DISPLACER LEVEL SWITCH SIDE=SIDE (DIRECT CONNECTION) .oottoees oo 29
18—LEVEL GAUGE SIDE—SIDE (DIRECT CONNECTION)  .\eviiteir oot 31
19=LEVEL GAUGE SIDE=SIDE (STAND PIPE ). et et eeee oo e 33
20—DISPLACER LEVEL TRANSMITTER (STAND PIPE) .oooe oot ee oo e . 39
21-DISPLACER LEVEL TRANSMITTER & LEVEL GAUGE (STAND PIPE) oo . 45
22—DIFFERENTIAL PRESSURE TRANSMITTER ON VESSEL oottt 51
23—CORROSION COUPON & CORROSION PROBE/TRANSMITTER (INSTALLATION IN 6’0 CLOCK) oiiieiieeeeeeeen. 53
24—CORROSION COUPON & CORROSION PROBE/TRANSMITTER (INSTALLATION IN 60 CLOCK) eoviviirieieecirerna. 54
25—ROTAMETER  150F & 300 . oo ool 55
26—ROTAMETER 8O0 . v e e 56

NOTE: DRAWING TITLE

TABLE OF CONTENTS

SHEET ‘1 OF W‘

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol wd s LR PR KW PSP @‘
h

NISOC ;Kgggé)ﬂé,@-o@T)g )SOSTJ;;@;)QDQT @gg E

:OL*.‘.% °)LQJ‘ PIPING ASSEMBLY DRAWING
: : ! o 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 4 She
BK GCS PEDCO 120 Pl DW 0002 DO1

1. INTRODUCTION

Binak oilfield in Bushehr province is a part of the southern oilfields of Iran, is located 20 km northwest of
Genaveh city.

With the aim of increasing production of oil from Binak oilfield, an EPC/EPD Project has been defined by
NIOC/NISOC and awarded to Petro Iran Development Company (PEDCO). Also PEDCO (as General Contractor)
has assigned the EPC—packages of the Project to "Hirgan Energy — Design and Inspection” JV.

As a part of the Project, a New Gas Compressor Station (adjacent to existing Binak GCS) shall be
constructed to gather of 15 MMSCFD (approx.) associated gases and compress & transfer them to
Siahmakan GIS.

2. GENERAL DEFINITION

The following terms shall be used in this document.
CLIENT: National Iranian South Oilfields Company (NISOC)
PROUJECT: Binak Oilfield Development — Surface Fcilities; New Gas Compressor Station

EPD/EPC CONTRACTOR (GC): Petro Iran Development Company (PEDCO)

EPC CONTRACTOR: Joint Venture of : Hirgan Energy — Design & Inspection (D&l) Companies
VENDOR: The firm or person who will fabricate the equipment or material.
EXECUTOR: Executor is the party which carries out all or part of construction and/or

commissioning for the project.

THIRD PARTY INSPECTOR (TPI): The firm appointed by EPC/EPD CONTRACTOR and approved by COMPANY
(in writing) for the inspection of goods.

SHALL: s used where a provision is mandatory.
SHOULD: s used where a provision is advisory only.
WILL: Is normally used in connection with the action by COMPANY rather than by an

EPC/EPD CONTRACTOR, supplier or VENDOR.

MAY: s used where a provision is completely discretionary.

3. RELATED DOCUMENTS

BK—GCS—PEDCO—120—IN-DG—0002 INSTRUMENT HOOK—UP DIAGRAM
BK—GNRAL—PEDCO—000—PI-DC—0001 PIPING DESIGN CRITERIA
BK—GCS—PEDCO—120—PI-SP—0001 PIPING MATERIAL SPECIFICATION
BK—GCS—PEDCO—120—PR—PI—0002~0025 PIPING AND INSTRUMENTATION DIAGRAM
NOTE: DRAWING TITLE :

RELATED DOCUMENTS

SHEET ‘1 OF 1‘

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

‘ S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

SR

: !
Y CJLA PEDCO

NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
:OL“’.‘.% °)‘“Q;‘ PIPING ASSEMBLY DRAWING
053-073-9184 o5z [ an]owS ol e |y [Sps] b | o 56 51 5 sandeoyl
BK GCS PEDCO 120 Pl DW 0002 DO1

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, SW 1" 1
i (FOR TYPE OF VALVE REFER TO PID)

2. SOCKOLET 1" 1

3. ELBOW 90, SW 1" 1 (TYPEA)

4. 100mm , NIPPLE, PBE (FOR GATE VALVE) 1" % f%EE 'é

5. SWAGE NIPPLE, PLE/TSE 1"%1/2" 1

6. FULL COUPLING, SW (FOR BALL VALVE) 1" 1

SPECS : ANO1/ ANO4/ANO5/ ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300# / 600#

FNO5 / FNO7 / FS00
NOTE: DRAWING TITLE :

PRESSURE GAUGE/TRANSMITTER

SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

m?m q@)y’@l‘“

éi;«ggé)gTé&J;oKlmﬂ); )KOST;,

‘ S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

PEDCO

NISOC o, Slasd :‘Eé%%‘éli %
ol 0l PIPING ASSEMBLY DRAWING
053-073-9184 035 |l e fossS sl | ogs [ az, [ Smpp| oo | e 56 1 6 ramic ol

BK GCS PEDCO 120 Pl DW 0002 DO1

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. (FOR TYPE OF VALVE REFER TO PID) " !
2. SOCKOLET, THRD 1 1
3. ELBOW 90, THRD 1" 1 (TYPE A)
4. 100 mm, NIPPLE, TBE (FOR GATE VALVE) 1 . fvPER
5. SWAGE NIPPLE, THRD 1"x1/2" 1
6. FULL COUPLING, SW (FOR BALL VALVE) h 1
SPECS: AZ00 RATING: 150#
NOTE: DRAWING TITLE -

PRESSURE GAUGE/TRANSMITTER

SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.

com



http://pdffactory.com

SR

A S S8 ol wd s &Tﬁ?ﬁk&@'%@ °39. @‘

PEDCO

O

NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
:OL*.‘.% °)‘“Q;‘ PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 51 7 sande o)l
BK GCS PEDCO 120 Pl DW 0002 DO1
VESSEL NOZZLE
T C
L ‘
—‘ —t
» v ® - aee
] VESSEL NOZZLE T
>

VESSEL

TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. GASKET, 300# 2" 1

2. BOLTS AND NUTS 5/8"xQ0L 8

3. BLIND FLANGE, 300# 2 1 TO BE DRILLED FOR 1" WELDED MALE CONNECTION

4. (FOR TYPE OF VALVE REFER TO PID) " !

5. ELBOW 90, SW 1" 1 (TYPE A)

6. 100mm , NIPPLE, PBE (FOR GATE VALVE) 1 : fvPER

7. SWAGE NIPPLE, PLE/TSE 1%1/2" 1

8. FULL COUPLING, SW (FOR BALL VALVE) 1 1

SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00

RATING: 150# / 300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

PRESSURE GAUGE/TRANSMITTER
VESSEL MOUNTED

SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

m?m q@)y’@l‘“

NISOC

‘ S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

PEDCO

T g S e C‘gg}%%éls E

:OL*.‘.% °)‘*Q;‘ PIPING ASSEMBLY DRAWING

053-073-9184 o5 |68 oS plo] g | w2, [Spups] Db

BK GCS PEDCO 120 Pl DW

0002

VESSEL NOZZLE

T

O &

VESSEL

O

VESSEL NOZZLE T 12/3)

56 51 8 iamic o)l

VESSEL

TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. GASKET, 600# 2" 1

2. BOLTS AND NUTS 5/8"x110L 8

3. BLIND FLANGE, 600# 2 1 TO BE DRILLED FOR 1" WELDED MALE CONNECTION

4. (FOR TYPE OF VALVE REFER TO PID) " !

5. ELBOW 90, SW 1" 1 (TYPE A)

6. 100mm , NIPPLE, PBE (FOR GATE VALVE) 1 : fvPER

7. SWAGE NIPPLE, PLE/TSE 1%1/2" 1

8. FULL COUPLING, SW (FOR BALL VALVE) 1 1

SPECS : FNO05/FNO07/ FS00

RATING: 600%#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

PRESSURE GAUGE/TRANSMITTER
VESSEL MOUNTED

SHEET

2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.

com



http://pdffactory.com

db

SR

S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

PEDCO

NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
:OL".‘.% °)‘“Q"j’ PIPING ASSEMBLY DRAWING

053-073-9184

033

«5)\543*%

oS

Sp

S g

gr| Jum

56 1 9 i o ,led

BK

GCS

PEDCO

120

Pl DW 0002

MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, SW 4 2
. (FOR TYPE OF VALVE REFER TO PID)
2. SOCKOLET " 2
3. 100mm , NIPPLE, PBE (FOR GATE VALVE) " 2
4, SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
5. FULL COUPLING, SW (FOR BALL VALVE) 1" 1

FNO5 / FNO7 / FS00

SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00

RATING: 150#/300# / 600#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

PRESSURE DIFFERENTIAL GAUGE/TRANSMITTER

SHEET

1T OF 1

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S U ECL RN RO RV g @‘
ST e
NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
:OL*.‘.% °)‘“Q;‘ PIPING ASSEMBLY DRAWING
- . o o N
053-073-9184 D e et e N B R 56 5110 sanio o)l
BK GCS PEDCO 120 Pl Dw 0002 DO1
=
@9
<
o
Z
o
O = = /= ®
080 Tj VESSEL NOZZLES :T D2
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2 2
2. BOLTS AND NUTS 5/8"x90L 16
3. BLIND FLANGE, 300# " 2 TO BE DRILLED FOR 1" WELDED MALE CONNECTION
4 GATE / BALL VALVE, SW 1" 2
. (FOR TYPE OF VALVE REFER TO PID)
5. 100mm , NIPPLE, PBE (FOR GATE VALVE) 1" 2
6. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
7. FULL COUPLING, SW (FOR BALL VALVE) 1" 1
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120~PI=SP~0001)|| prESSURE DIFFERENTIAL GAUGE,/TRANSMITTER
VESSEL MOUNTED
SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S CPRIET Y VORI S 1) BV RV S e @‘
SR e
NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
soles o)les PIPING ASSEMBLY DRAWING
: , 1 i oo
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 1L She
BK ces | pepco [ 120 Pl DW 0002 D01
=
7
Z
O
4
o
® /\ x [\=®
[ : [ : )
: : : VESSEL NOZZLES : : :
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# o 2
2. BOLTS AND NUTS 5/8"x110L 16
3. BLIND FLANGE, 600# o 2 TO BE DRILLED FOR 1" WELDED MALE CONNECTION
GATE / BALL VALVE, SW " 2
4. (FOR TYPE OF VALVE REFER TO PID) 1
5. 100mm , NIPPLE, PBE (FOR GATE VALVE) " 2
6. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
7. FULL COUPLING, SW (FOR BALL VALVE) " 1
SPECS : FNO5/FNO7/FS00 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001).|| pRESSURE DIFFERENTIAL GAUGE/TRANSMITTER
VESSEL MOUNTED
SHEET ‘ 2 OF 2 ‘

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

& S COPRET TN RVOSW JE RN 1 IO R S e @‘
Farny e
N][SOC ‘iidw é)ﬁT é“? OK"*‘*’T 02 )Lf ("STJ’ "Q";) "“’IH&T @%‘é{l %@
soles o)les PIPING ASSEMBLY DRAWING
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e I
BK ccs | pebco | 120 PI DW 0002 DO1
-~ PIPING INST.
\//‘//2 ——— ———
=
%)
pd
- 162 mm -
= (12®
o S £
E T E -5
| o™ o %
Sk l (a s
[
! S Q
> N
% HORIZONTAL PIPE §
[ NOTE 3 \
\ /
/.
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1, FLANGE, SW, 300# 1/2" 1
2 GASKET, 300# 11/2" 1
3. BOLTS AND NUTS 3/4"x95L 4
4, SOCKOLET 172" 1
5. PIPE, PBE 11/2" NOTE 2
SPECS : ANO1/ ANO4 /ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# /300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),
2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP)
SHALL BE CONSIDERED 162 mm.
3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .

DRAWING TITLE :

TEMPERATURE GAUGE / TRANSMITTER

SHEET

1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

‘ S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

NISOC ;Kgggé)ﬂé,@-o@T)g )'LfOSTJ;q%;)@b;-T @gg E

soles o)les PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 5113 sanio o)l
BK ccs | pebco | 120 PI DW 0002 DO1
///// o PIPING INST.
-
(%)
pd
162 mm -
= (2®
o 2 £
a T £ -5
— | o %
S8 < % @
[
i S %
> N
§ HORIZONTAL PIPE %
| NOTE 3 |
Z/
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1, FLANGE, SW, 600# 1/2" 1
2 GASKET, 600# 11/2" 1
3. BOLTS AND NUTS 3/4"x115L 4
4, SOCKOLET 172" 1
5. PIPE, PBE 11/2" NOTE 2
SPECS: FNO5 / FNO7 / FS00 RATING: 600#
NOTE: DRAWING TITLE -

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING

MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).

2. DISTANCE BETWEEN FACE OF FLANGE (FOF) & TOP OF PIPE (TOP) TEMPERATURE GAUGE / TRANSMITTER
SHALL BE CONSIDERED 162 mm.

3. MINIMUM RUN PIPE SIZE SHALL BE CONSIDERED 4" .

SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

&
SR

S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

PEDCO

T g S e C‘gg}%%éls E

NISOC
:OL“’.‘.% °)LQJ‘ PIPING ASSEMBLY DRAWING
053-073-9184 S R e R e i R 2 e 56 51 14 ramio o)l
BK GCS PEDCO 120 Pl DW 0002 D01
VESSEL NOZZLE
=
n
— z
o 2
LU T VESSEL NOZZLE
n a ~
(d))
<
VESSEL
PIPING INST.
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 1
2. BOLTS AND NUTS 5/8"x90L 8
SPECS : ANO1/ ANO4/ANO5/ ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# /300#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

TEMPERATURE GAUGE / TRANSMITTER
VESSEL MOUNTED

SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

& S CUURET A RVORNT W1 5| BPCE R SIS PR @‘
— . .
ST e
S < I st > 58 (’ST oy, O los! HIRGAN
N][SOC 09 é“? 2 2 B 22 ) @ERGY E
:OL*.‘.% °)LQ;‘ PIPING ASSEMBLY DRAWING
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e L
BK GCS PEDCO 120 Pl DW 0002 DO1
VESSEL NOZZLE
=
0
— Z
o 9
(LIA T T VESSEL NOZZLE
o
(7))
LLl
> VESSEL
PIPING INST.
TYPE (A) TYPE (B)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# 2 1
2. BOLTS AND NUTS 5/8"x110L 8
SPECS : FNO5 / FNO7 / FS00 RATING: 600#
NOTE: DRAWING TITLE -
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).
TEMPERATURE GAUGE / TRANSMITTER
VESSEL MOUNTED
SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

‘ S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

NISOC ;Kgggé)ﬂé,@-o@T)g )'LfOSTJ;q%;)@b;-T @gg E

:OL*.‘.% °)LQ;‘ PIPING ASSEMBLY DRAWING
: : ! o 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 16 She
BK GCS PEDCO 120 Pl DW 0002 DO1

INST.

PIPING

- e |

= \
\ |
\ \
S D
4>
HORIZENTAL
MAXIMUM ALLOWABLE
ANGEL CONNECTION
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
GATE / BALL VALVE, SW .

1. (FOR TYPE OF VALVE REFER TO PID) 1 2

2. 100mm , NIPPLE, PBE (FOR GATE VALVE) 1" 2

3. SWAGE NIPPLE, PLE/TSE 1"%x1/2" 2

4, FULL COUPLING, SW (FOR BALL VALVE) 1" 1

SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300# / 600#

FNO5 / FNO7 / FS00

NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001). DP CELL FLOW TRANSMITTER

(GAR)

SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

m?m q@)y’@l‘“

éi;«ggé)gTé&J;oKlmﬂ); )KOST;,

A S S8 ol wd s LR PR KW PSP

<,

PEDCO

- e |

NISOC sy sl C‘Eé%%‘éli %j
:OL*.‘.% °)LQ;‘ PIPING ASSEMBLY DRAWING
: : ! o 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 5117 She
BK GCS PEDCO 120 Pl DW 0002 DO1
-
%)
=z
O
=
o C
m

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

= \
| |
= D D
4>
HORIZENTAL
MAXIMUM ALLOWABLE
ANGEL CONNECTION
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
GATE / BALL VALVE, THRD.
1. (FOR TYPE OF VALVE REFER TO PID) 1" 2
2. 100mm , NIPPLE, THRD (FOR GATE VALVE) 1" 2
3. SWAGE NIPPLE, THRD 1"x1/2" 2
4, FULL COUPLING, THRD (FOR BALL VALVE) 1" 1
SPECS: AZ00 RATING: 150#
NOTE: DRAWING TITLE :

DP CELL FLOW TRANSMITTER

(GAS)

SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.

com



http://pdffactory.com

PIPING

(/)

A S 525 ol W ol 5 en g o3 @‘
ST, #e
NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
tole o)led PIPING ASSEMBLY DRAWING
053-073-9184 235 |6l G foaiS ol | SNgs [z, Sk pp| Yo | 56 5118 ramioo)l
BK 6cs | Pepco | 120 Pl pw | ooo2 | Dot
PIPING INST. INST.| PIPING

PIPING

MAXIMUM ALLOWABLE MAXIMUM ALLOWABLE
ANGEL CONNECTION ANGEL CONNECTION
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
GATE / BALL VALVE, SW .

1. (FOR TYPE OF VALVE REFER TO PID) 1 2

2. 100mm , NIPPLE, PBE (FOR GATE VALVE) 1" 2

3. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2

4, FULL COUPLING, PBE (FOR BALL VALVE) 1" 1

SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS0O0 / CNO5 / CNO7 / CS00 RATING: 150# / 300# / 600#

FNO5 / FNO7 / FS00

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

DP CELL FLOW TRANSMITTER
(LIQUID)

SHEET 1 OF 1

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S COPRET TN RVOSW JE RN 1 IO R S e @‘
SR -
NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
toles o,k PIPING ASSEMBLY DRAWING
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 5119 rmie o)l
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
@ ¢ gt .
11
C) = 2
[
() 3 E () U C)
11/2" AND SMALLER 11/2° AND SMALLER
(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, SW 1/2" 1
. (FOR TYPE OF VALVE REFER TO PID)
2. REDUCING TEE, SW LINE SIZEX1/2" 1
3. CAP, THRD 112" 1
4. 100mm , NIPPLE, PBE (FOR GATE VALVE) 1/2" 1
5. 100mm , NIPPLE, POE/TOE (FOR GATE VALVE) 172" 1
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300# / 600#
FNO5 / FNO7 / FS00
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).
PROCESS VENT & PROCESS DRAIN
FOR 11/2” AND SMALLER LINES
SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S 525 ol W ol 5 en g o3 @‘
ST e
NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
tole o)les PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 5120 sanioo)l
BK | ccs |peoco| 120 PI ow | o002 | Do
| ) - [
§ —— ¢ - 3
11/2” AND SMALLER 11/2  AND SMALLER
(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, THRD 1/2" 1
. (FOR TYPE OF VALVE REFER TO PID)
2. CAP, THRD 112" 1
3. 100mm , NIPPLE, TBE (FOR GATE VALVE) 1/2" 2
4. REDUCING TEE, THRD LINE SIZE X 1/2" 1
SPECS: AZ00 RATING: 150#
NOTE: DRAWING TITLE
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO-120~PI-SP-0001).
PROCESS VENT & PROCESS DRAIN
FOR 11/2” AND SMALLER LINES
SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

SR

A S S8 ol wd s &Tﬁ?ﬁ@l-'%i;‘ °39. @‘

PEDCO

NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
tolesy 05l PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 51 2l sanie o)l
Bk | ocs | penco | 120 Pl ow | 0002 | Dot
@B ) (
( j> )
< >
) < le @
2 AND LARGER 2" AND LARGER
(VENT) (DRAIN)
MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1 GATE / BALL VALVE, SW 3/4" 1
. (FOR TYPE OF VALVE REFER TO PID)
2. SOCKOLET 3/4" 1
. CAP, THRD 3/4" 1
4. 100mm , NIPPLE, PBE (FOR GATE VALVE) 3/4" 1
5. 100mm , NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 1
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300# / 600#
FNO5 / FNO7 / FS00

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

PROCESS VENT & PROCESS DRAIN
FOR 2" AND LARGER LINES

SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S COPRET TN RVOSW JE RN 1 IO R S e @‘
SR o
NISOC Ssigggé)ﬂé,@-oki;;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
toles o,k PIPING ASSEMBLY DRAWING
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e L
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
O ) ; (
| - ’ ST
2 AND LARGER 2 AND LARGER
(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, THRD 3/4" 1
. (FOR TYPE OF VALVE REFER TO PID)
2. CAP, THRD 34" 1
3. 100mm , NIPPLE, TBE (FOR GATE VALVE) 3/4" 2
4. REDUCING TEE, THRD LINE SIZE X 3/4" 1
SPECS: AZ00 RATING: 150#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).
PROCESS VENT & PROCESS DRAIN
FOR 2” AND LARGER LINES
SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

& S 18 ol adys 31 5 wnlag o5, @‘
ST e
NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
tolesy 05l PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 5128 sanieo)l
Bk | ccs | penco | 120 PI ow | o002 | Dot
) 7 r (
( - - )
B
@
L
() 3 E () e (3)
11/2” AND SMALLER 11/2” AND SMALLER
(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. (FOR TYPE OF VALVE REFER TO PID) 2 1 (ORAIN)
2. REDUCING TEE, SW LINE SIZEX1/2" 1
3. CAP, THRD 112" 1
4. 100mm , NIPPLE, PBE (FOR GATE VALVE) 172" 1 (DRAIN)
5. 100mm , NIPPLE, POE/TOE (FOR GATE VALVE) 1/2" 1
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300# / 600#
FNO5 / FNO7 / FS00

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

HYDROSTATIC VENT & HYDROSTATIC DRAIN
FOR 11/2" AND SMALLER LINES

SHEET

1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

S CTURE RS KVOSV ISV S RO RYS SIS e

Sz sl gor ol 5 5B (ST s, slast

&
SR

<,

PEDCO

NISOC @ %@
:OL*.‘.% °)‘“Q*j‘ PIPING ASSEMBLY DRAWING
053-073-9184 o5z [ an]owS ol e |y [Sps] b | o 56 5124 sanioo)l
BK GCS PEDCO 120 Pl DW 0002 DO1
) | (
( | )
( | | )
) ‘ ‘ (

11/2” AND SMALLER

11/2” AND SMALLER

MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
—~SP-0001)]

(VENT) (DRAIN)
MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1. (GF/-C\)-II;E'I{YBFI’-\IIE_ OFVALVE REFER TO PID) 172 1 (DRAIN)

2. HEX. HEAD PLUG, THRD (FOR GATE VALVE) 1/2" 1

3. 100mm , NIPPLE, TBE (FOR GATE VALVE) 172" 1 (DRAIN)

4. REDUCING TEE, THRD LINE SIZE X 1/2" 1

5. CAP, THRD (FOR BALL VALVE) 172" 1

SPECS : AZ00 RATING: 150#
NOTE: DRAWING TITLE

HYDROSTATIC VENT & HYDROSTATIC DRAIN
FOR 11/2" AND SMALLER LINES

SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version

pdffactory.com



http://pdffactory.com

& S U ECL RN RO RV g @‘
ST o
NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
tole o)led PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 5125 samiooyl
BK 6cs | penco | 120 PI ow | oooz | Do1
) (
( j> )
)
( ( >
) < e
2" AND LARGER 2" AND LARGER
(VENT) (DRAIN)
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. (Gl%TF!ET/\?F;'\lIE'Ib\ﬁ/L;\\ﬁ}g\F’{VEFERTo PID) 34" 1 (DRAIN)
2, SOCKOLET 3/4" 1
3. CAP, THRD 3/4" 1
4. 100mm , NIPPLE, PBE (FOR GATE VALVE) 3/4" 1 (DRAIN)
5. 100mm , NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 1
SPECS : ANO1/ ANO4/ANO5/ ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300# / 600#
FNO5 / FNO7 / FS00

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

HYDROSTATIC VENT & HYDROSTATIC DRAIN
FOR 2" AND LARGER LINES

SHEET

1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

SR

db

S COURUE T RVOSIVE JC RN 1 BRI RYS C IR

<,

11/2” AND SMALLER

11/2” AND SMALLER

PEDCO
NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
:OL*.‘.% °)‘*Q;‘ PIPING ASSEMBLY DRAWING
: , ! o 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 26 She
BK GCS PEDCO 120 Pl DW 0002 DO1
) | (
( ! )
( | | )
) ‘ ‘ (

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

(VENT) (DRAIN)
MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1. (FOR TYPE OF VALVE REPER TO PID) " 1 (ORAIN)

2. HEX. HEAD PLUG, THRD (FOR GATE VALVE) 3/4" 1

3. 100mm , NIPPLE, TBE (FOR GATE VALVE) 3/4" 1 (DRAIN)

4. REDUCING TEE, THRD LINE SIZE X 3/4" 1

5. CAP, THRD (FOR BALL VALVE) 34 1

SPECS : AZ00 RATING: 150#
NOTE: DRAWING TITLE :

FOR 2" AND LARGER LINES

SHEET

2 OF 2

HYDROSTATIC VENT & HYDROSTATIC DRAIN

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S 525 ol W ol 5 en g o3 @‘
ST e
NISOC S 6ol ger oKl 5 58 (ST s, &l @
ol o)l PIPING ASSEMBLY DRAWING
!
053-073-9184 D e et e N B R o6 T =T
BK 6es | PEDCO | 120 PI ow | ooo2 | Dot
=
(%)
<
V]
Z
o
©—/\ = [\=—®
[t : [t : )
080 T VESSEL NOZZLES =T D2
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 2
2, BOLTS AND NUTS 5/8"x90L 16
3. BLIND FLANGE, 300# 2" 2 TO BE DRILLED FOR 1" WELDED MALE CONNECTION
GATE / BALL VALVE, SW .
4 (FOR TYPE OF VALVE REFER TO PID) 1 2
5. 100mm , NIPPLE, PBE (FOR GATE VALVE) " 2
6. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
7. FULL COUPLING, SW (FOR BALL VALVE) 1" 2
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300#
NOTE: DRAWING TITLE
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001). DIFFERENTIAL PRESSURE
LEVEL TRANSMITTER
(VESSEL MOUNTED)
SHEET 1 OF 2
@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S CPRIET Y VORI S 1) BV RV S e @‘
SR o
NISOC S 6ol ez oSl 5o S8 ST s, B las @%@13 %@
soles o)les PIPING ASSEMBLY DRAWING
: : ;! i oo
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 6 51 28 She
BK 6cs | pebco | 120 PI DW 0002 DO
=
()
Z
O
4
o
® /\ x [\=®
<—(:) <—<:>
: : : VESSEL NOZZLES - : : :
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# o 2
2. BOLTS AND NUTS 5/8"x110L 16
3. BLIND FLANGE, 600# o 2 TO BE DRILLED FOR 1" WELDED MALE CONNECTION
GATE / BALL VALVE, SW . 2
4 (FOR TYPE OF VALVE REFER TO PID) 1
5. 100mm , NIPPLE, PBE (FOR GATE VALVE) 1 2
6. SWAGE NIPPLE, PLE/TSE 1"x1/2" 2
7. FULL COUPLING, SW (FOR BALL VALVE) " 2
SPECS : FNO5/FNO7/FS00 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—-0001), DIFFERENTIAL PRESSURE
LEVEL TRANSMITTER
(VESSEL MOUNTED)
SHEET | 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S ST RV P I L IPRCEI RV Sy g @‘
ST e
NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
tolesy 05l PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 5129 samiooyl
Bk | ccs | Penco | 120 Pl pw | 000z | Dot
PIPING INST.
TANK NOZZLE
/d
| % - <
Z LS
‘ g
TANK NOZZLE
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 4
2 BOLTS AND NUTS 5/8"x90L 32
3 GATE / BALL VALVE, FLG, 300# on 2
. (FOR TYPE OF VALVE REFER TO PID)
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001)||| DISPLACER LEVEL SWITCH (SIDE—SIDE)
(DIRECT CONNECTION)
SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

db

S COURUE T RVOSIVE JC RN 1 BRI RYS C IR

<,

NISOC Ssigggé)ﬂé,@-oki;;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
tolesy 05l PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 5180 sanioo)l
Bk | ocs | penco | 120 Pl ow | 0002 | Dot
PIPING INST.
TANK NOZZLE
— T

<0

| % -
<ZE LS
‘ kg
TANK NOZZLE
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# " 6
2. BOLTS AND NUTS 5/8"x110L 48
3 GATE / BALL VALVE, FLG, 600# on 4
- (FOR TYPE OF VALVE REFER TO PlD)

SPECS : FNO5/FNO7 / FS00 RATING: 600#

NOTE:

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE :

DISPLACER LEVEL SWITCH (SIDE-SIDE)
(DIRECT CONNECTION)

SHEET

2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

& S U ECL RN RO RV g @‘
ST e
NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
tole o)led PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 51 8L sande o)l
BK 6cs | pepco | 120 PI ow | o002 | Dot
PIPING INST.
TANK NOZZLE 2)
— T 0
! }
< o e
TANK NOZZLE X
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 2" 4
2, BOLTS AND NUTS 5/8"x90L 32
GATE / BALL VALVE, FLG, 300# " 2
3. (FOR TYPE OF VALVE REFER TO PID) 2
SPECS : ANO1/ ANO4/ANO5/ ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300#
NOTE: DRAWING TITLE -
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001). LEVEL GAUGE(SIDE—SIDE)
(DIRECT CONNECTION)
SHEET 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

‘ S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

NISOC ;Kgggé)ﬂé,@-o@T)g )'LfOSTJ;q%;)@b;-T @gg E

:OL*.‘.% °)‘“QJ‘ PIPING ASSEMBLY DRAWING
- . . N
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 32 She
BK GCS PEDCO 120 Pl DW 0002 DO1
PIPING INST.
————————————
///\

3 =)
g

TANK
ce

- =

i
ﬂNHﬁQHC

TANK NOZZLE
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 600# 2 4
2. BOLTS AND NUTS 5/8"x110L 32
3 GATE / BALL VALVE, FLG, 600# on 2
. (FOR TYPE OF VALVE REFER TO PID)
SPECS : FNO05/FNO7/ FS00 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI-SP—0001). LEVEL GAUGE(SIDE—SIDE)

(DIRECT CONNECTION)

SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol wd s LR PR KW PSP @‘
h

NISOC ;Kgggé)ﬂé,@-o&,g)g )'LfOSTJ;q%;)@b;-T @gg E

:OL*.‘.% °)LQJ‘ PIPING ASSEMBLY DRAWING
: : ! o 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 6 51 33 She
BK GCS PEDCO 120 Pl DW 0002 DO1

PIPING INST.
——————————

VESSEL NOZZLE

T

VESSEL
‘ -~ STAND PIPE 3" \4
ste 5 aas
SIIE) BRE

|
/—\
v
VESSEL NOZZLE @
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 RATING: 150
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING

MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).

LEVEL GAUGE(SIDE-SIDE)
(STAND PIPE)

SHEET 17 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S CPRIET Y VORI S 1) BV RV S e @‘
s e
NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
soles o)les PIPING ASSEMBLY DRAWING
053-073-9184 o5z [ an]owS ol e |y [Sps] b | o 56 51 34 sanioo)l
BK ccs | pebco | 120 PI DW 0002 DO1
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, FLG, 150# - 2
. (FOR TYPE OF VALVE REFER TO PID)
2 GATE / BALL VALVE, FLG, 300# o 2
- (FOR TYPE OF VALVE REFER TO PID)
3. GASKET, 150# 3" 4
4. GASKET, 300# 2" 4
5. BOLTS AND NUTS 5/8"X90L 48
6. DELETED
GATE / BALL VALVE, SW "
7. (FOR TYPE OF VALVE REFER TO PID) 3/ 2
8. FLANGE, 150# 3" 2
9. FLANGE, 300# 2" 2
10. PIPE, BE 3" HOLD
11. PIPE, BE 2" HOLD
12. EQUAL TEE 3" 2
13. RED.TEE 3"Xx2" 2
14, CAP, BW 3" 2
15. HALF COUPLING, SW 3/4" 2
16. CAP, THRD 3/4" 2
17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2
18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / ASO0 RATING: 1504
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO-120-PI-SP-0001).
LEVEL GAUGE(SIDE-SIDE)
(STAND PIPE)
SHEET | 2 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol wd s LR PR KW PSP @‘
h

NISOC ;Kgggé)ﬂé,@-o&,g)g )'LfOSTJ;q%;)@b;-T @gg E

:OL*.‘.% °)LQJ‘ PIPING ASSEMBLY DRAWING
: : ! o 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 6 51 35 She
BK GCS PEDCO 120 Pl DW 0002 DO1

PIPING INST.
——————————

VESSEL NOZZLE

T

VESSEL
‘ -~ STAND PIPE 3" \4
ste 5 aas
SIIE) BRE

[
—
~_ 7
VESSEL NOZZLE @
SPECS : CNO05 / CNO7 / CS00 RATING: 300#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING

MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).

LEVEL GAUGE(SIDE-SIDE)
(STAND PIPE)

SHEET 3 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

A C SOV RN RVRT JE R S PO R G g @‘
m oY Nk .PEDCO
NISOC Sz sl gor ol 5 5B (ST s, slast @ E
toleg o)les PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 51 86 ramioo,l
BK Ges | penco | 120 PI DW 0002 DO1
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. (FOR TYPE OF VALVE REFER TO PID) 3 2
2 (FORTYPE OF VALVE REFER TO PID) z 2
3. GASKET, 300# 3" 4
4. GASKET, 300# 2" 4
5. BOLTS AND NUTS 3/4"X110L 32
6. BOLTS AND NUTS 5/8"X90L 32
7. f?%?r’?@é 'OF VALVE REFER TO PID) 3/4" 2
8. FLANGE, 300# 3" 2
9. FLANGE, 300# 2" 2
10. PIPE, BE 3" HOLD
11. PIPE, BE 2" HOLD
12. EQUAL TEE 3" 2
13. RED.TEE 3"Xx2" 2
14. CAP, BW 3 2
15. HALF COUPLING, SW 3/47 2
16. CAP, THRD 3/4" 2
17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2
18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2
CNO05 / CNO7 / CS00 300#
NOTE: DRAWING TITLE :

LEVEL GAUGE(SIDE—-SIDE)

(STAND PIPE)

SHEET

4 OF ©

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol wd s LR PR KW PSP @‘
h

NISOC ;Kgggé)ﬂé,@-o&,g)g )'LfOSTJ;q%;)@b;-T @gg E

:OL*.‘.% °)LQJ‘ PIPING ASSEMBLY DRAWING
: : ! o 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 6 51 37 She
BK GCS PEDCO 120 Pl DW 0002 DO1

PIPING INST.
——————————

VESSEL NOZZLE

T

VESSEL
‘ -~ STAND PIPE 3" \4
ste 5 aas
SIIE) BRE

[
—
~_ 7
VESSEL NOZZLE @
SPECS : FNO5 / FNO7 / FS00 RATING: 600#
NOTE: DRAWING TITLE :

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING

MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).

LEVEL GAUGE(SIDE-SIDE)
(STAND PIPE)

SHEET 5 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol adss ol 5 e lagS o3, @‘
s o
NISOC S 6ol ez oSl 5o S8 ST s, B las @%@13 %@
toles o,k PIPING ASSEMBLY DRAWING
: , ! i 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 6 51 38 She
BK 6es | PEDCO | 120 PI DW 0002 D01
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, FLG, 600# - 2
: (FOR TYPE OF VALVE REFER TO PID)
2 GATE / BALL VALVE, FLG, 600# o 2
- (FOR TYPE OF VALVE REFER TO PID)
3. GASKET, 600# 3" 4
4. GASKET, 600# 2 4
5. BOLTS AND NUTS 3/4"X125L 32
6. BOLTS AND NUTS 5/8"X110L 32
GATE / BALL VALVE, SW "
7. (FOR TYPE OF VALVE REFER TO PID) 3/ 2
8. FLANGE, 600# 3" 2
9. FLANGE, 600# 2" 2
10. PIPE, BE 3" HOLD
11. PIPE, BE 2" HOLD
12. EQUAL TEE 3" 2
13. RED.TEE 3"x2" 2
14, CAP, BW 3" 2
15. HALF COUPLING, SW 3/4" 2
16. CAP, THRD 3/4" 2
17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2
18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2
SPECS : FNO5 / FNO7 / FS00 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO-120-PI-SP-0001).
LEVEL GAUGE(SIDE-SIDE)
(STAND PIPE)
SHEET | 6 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S COPRET TN RVOSW JE RN 1 IO R S e @‘
5 oY B
SR e
NISOC Ssigggé)ﬂé,@-oki;;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
toleg o)les PIPING ASSEMBLY DRAWING
- . o o N
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 6 51 39 Sl
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
PIPING INST.
VESSEL NOZZLE
)
s I —
- .
L & LT
5 b
[m]
=
LLJ = a1
> ” \y
‘
/—\ C]
v
VESSEL NOZZLE @
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 RATING: 1504
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).
DISPLACER LEVEL TRANSMITTER
(STAND PIPE)
SHEET 1 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

A S CUURET A RVORNT W1 5| BPCE R SIS PR @‘
m oY gk .PEDCO
NISOC Sz sl gor ol 5 5B (ST s, slast @ E
tolesy o5l PIPING ASSEMBLY DRAWING
053-073-9184 S R i e N R R 56 51 40 ramko o)l
BK 6cs | pEDcO | 120 PI DW 0002 DO1
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. (FOR TYPE GF VALVE REFER T0 PID) 3 2
2 (FOR TYPE GF VALVE REFER T0 PID) z 2
3. GASKET, 150# 3" 4
4. GASKET, 300# 2" 4
5. BOLTS AND NUTS 5/8"X90L 48
6. DELETED
7. f?%?r’?@é 'OF VALVE REFER TO PID) 3/4" 2
8. FLANGE, 150# 3" 2
9. FLANGE, 300# 2" 2
10. PIPE, BE 3" HOLD
11. PIPE, BE 2" HOLD
12. EQUAL TEE 3" 2
13. RED.TEE 3"X2" 2
14. CAP, BW 3 2
15. HALF COUPLING, SW 3/4" 2
16. CAP, THRD 3/4" 2
17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2
18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2
SPECS: ANO1/ ANO4 / ANO5 / ANO7 / AS00 RATING: 150#
NOTE: DRAWING TITLE -

DISPLACER LEVEL TRANSMITTER

(STAND PIPE)

SHEET

2 OF ©6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol adss ol 5 e lagS o3, @‘
SR o
NISOC Ssigggé)ﬂé,@-oki;;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
toles o,k PIPING ASSEMBLY DRAWING
- . o o N
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 4l Sl
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
PIPING INST.
VESSEL NOZZLE
)
- 10
- .
L & LT
5 b
[m]
=
LLJ = a1
> ” \y
‘
/—\ C]
v
VESSEL NOZZLE @
SPECS: CNO05 / CNO7 / CS00 RATING: 300#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).
DISPLACER LEVEL TRANSMITTER
(STAND PIPE)
SHEET 3 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

A C SOV RN RVRT JE R S PO R G g @‘
m oY Nk .PEDCO
NISOC Sz sl gor ol 5 5B (ST s, slast @ E
toleg o)les PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 514z rambo o)l
BK Ges | penco | 120 PI DW 0002 DO1
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. (FOR TYPE OF VALVE REFER TO PID) 3 2
2 (FORTYPE OF VALVE REFER TO PID) z 2
3. GASKET, 300# 3" 4
4. GASKET, 300# 2" 4
5. BOLTS AND NUTS 3/4"X110L 32
6. BOLTS AND NUTS 5/8"X90L 32
7. f?%?r’?@é 'OF VALVE REFER TO PID) 3/4" 2
8. FLANGE, 300# 3" 2
9. FLANGE, 300# 2" 2
10. PIPE, BE 3" HOLD
11. PIPE, BE 2" HOLD
12. EQUAL TEE 3" 2
13. RED.TEE 3"Xx2" 2
14. CAP, BW 3 2
15. HALF COUPLING, SW 3/47 2
16. CAP, THRD 3/4" 2
17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2
18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2
CNO05 / CNO7 / CS00 300#
NOTE: DRAWING TITLE :

DISPLACER LEVEL TRANSMITTER

(STAND PIPE)

SHEET

4 OF ©

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol adss ol 5 e lagS o3, @‘
SR e
NISOC Ssigggé)ﬂé,@-oki;;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
toleg o)les PIPING ASSEMBLY DRAWING
- . o o N
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 43 Sl
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
PIPING INST.
VESSEL NOZZLE
)
s I —
- .
L & LT
5 b
[m]
=
LLJ = a1
> ” \y
‘
/—\ C]
v
VESSEL NOZZLE @
SPECS : FNO5 / FNO7 / FS00 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001).
DISPLACER LEVEL TRANSMITTER
(STAND PIPE)
SHEET 5 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol adss ol 5 e lagS o3, @‘
s o
NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
toles o,k PIPING ASSEMBLY DRAWING
: , ! i 0l
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 44 She
BK 6es | PEDCO | 120 PI DW 0002 D01
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, FLG, 600# - 2
: (FOR TYPE OF VALVE REFER TO PID)
2 GATE / BALL VALVE, FLG, 600# o 2
- (FOR TYPE OF VALVE REFER TO PID)
3. GASKET, 600# 3" 4
4. GASKET, 600# 2" 4
5. BOLTS AND NUTS 3/4"X125L 32
6. BOLTS AND NUTS 5/8"X110L 32
GATE / BALL VALVE, SW "
7. (FOR TYPE OF VALVE REFER TO PID) 3/ 2
8. FLANGE, 600# 3" 2
9. FLANGE, 600# 2" 2
10. PIPE, BE 3" HOLD
11. PIPE, BE 2" HOLD
12. EQUAL TEE 3" 2
13. RED.TEE 3"x2" 2
14. CAP, BW 3" 2
15. HALF COUPLING, SW 3/4" 2
16. CAP, THRD 3/4" 2
17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2
18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2
SPECS : FNO5 / FNO7 / FS00 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO-120-PI-SP-0001).
DISPLACER LEVEL TRANSMITTER
(STAND PIPE)
SHEET | 6 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S CPRIET Y VORI S 1) BV RV S e @‘
SR o
NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
toles o,k PIPING ASSEMBLY DRAWING
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 45 She
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
PIPING INST.
—
VESSEL NOZZLE
T
-
L LT
7p)
(0p)
=
—
v
VESSEL NOZZLE
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 RATING: 1504
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING DISPLACER LEVEL TRANSMITTER
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001). &
LEVEL GAUGE(SIDE-SIDE)
(STANDPIPE)
SHEET 1 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

SR

A S S8 ol wd s &Tﬁ?ﬁk&@'%@ °39. @‘

PEDCO

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

NISOC Sz sl gor ol 5 5B (ST s, slast @ E
ol o)l PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 51 46 ramio o)l
BK GCS PEDCO 120 Pl DW 0002 DO1
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. (FOR TYPE OF VALVE REFER TO PID) 3 2
2 (FORTYPE OF VALVE REFER TO PID) z 4
3. GASKET, 150# 3" 4
4. GASKET, 300# 2" 8
5. BOLTS AND NUTS 5/8"X90L 64
6. DELETED
7. f?%?r’?@é Ib\ng}%E/ES \I,RVEFER TO PID) 3/4" 2
8. FLANGE, 150# 3" 2
9. FLANGE, 300# 2" 4
10. PIPE, BE 3" HOLD
11. PIPE, BE 2" HOLD
12. EQUAL TEE 3" 2
13. RED.TEE 3"Xx2" 4
14. CAP, BW 3 2
15. HALF COUPLING, SW 3/47 2
16. CAP, THRD 3/4" 2
17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2
18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2
SPECS: ANO1/ ANO4 / ANO5 / ANO7 / AS00 RATING: 150#
NOTE: DRAWING TITLE :

DISPLACER LEVEL TRANSMITTER
&
LEVEL GAUGE(SIDE-SIDE)
(STANDPIPE)

SHEET 2 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S CPRIET Y VORI S 1) BV RV S e @‘
SR e
NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
toles o,k PIPING ASSEMBLY DRAWING
- . . N
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 4T She
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
PIPING INST.
—
VESSEL NOZZLE
/\
-
L LT
7p)
(0p)
=
/—\
v
VESSEL NOZZLE
SPECS: CNO05 / CNO7 / CS00 RATING: 300#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING DISPLACER LEVEL TRANSMITTER
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001). &
LEVEL GAUGE(SIDE-SIDE)
(STANDPIPE)
SHEET 3 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A K CUVRET R KONV P 0 ) PRI KV S S @‘
S e
NISOC S 6ol ez oSl 5o S8 ST s, B las @%@13 %@
soles o)les PIPING ASSEMBLY DRAWING
053-073-9184 o5z [ an]owS ol e |y [Sps] b | o 56 51 48 sanico)l
BK Ges | pepco | 120 Pl DW 0002 DO1
MATERIAL LIST

SR.NO. ITEM SIZE QUANTITY REMARKS

1 GATE / BALL VALVE, FLG, 300# - 2

: (FOR TYPE OF VALVE REFER TO PID)
2 GATE / BALL VALVE, FLG, 300# o 4
- (FOR TYPE OF VALVE REFER TO PID)

3. GASKET, 300# 3" 4

4. GASKET, 300# 2" 8

5. BOLTS AND NUTS 3/4"X110L 32

6. BOLTS AND NUTS 5/8"X90L 32

GATE / BALL VALVE, SW R

7. (FOR TYPE OF VALVE REFER TO PID) 3/ 2

8. FLANGE, 300# 3" 2

9. FLANGE, 300# 2" 4

10. PIPE, BE 3" HOLD

11. PIPE, BE 2" HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3"x2" 4

14. CAP, BW 3" 2

15. HALF COUPLING, SW 3/4" 2

16. CAP, THRD 3/4" 2

17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2

18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2

SPECS: CNO05 / CNO7 / CS00 RATING: 300#
NOTE: DRAWING TITLE -
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING DISPLACER LEVEL TRANSMITTER
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO-120-PI-SP-0001). &

LEVEL GAUGE(SIDE-SIDE)
(STANDPIPE)
SHEET 4 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S CPRIET Y VORI S 1) BV RV S e @‘
SR e
NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
toles o,k PIPING ASSEMBLY DRAWING
- . . N
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 49 She
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
PIPING INST.
—
VESSEL NOZZLE
/\
-
L LT
7p)
(0p)
=
/—\
v
VESSEL NOZZLE
SPECS : FNO5 / FNO7 / FS00 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING DISPLACER LEVEL TRANSMITTER
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO—120—PI—SP—0001). &
LEVEL GAUGE(SIDE-SIDE)
(STANDPIPE)
SHEET 5 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

A C SOV RN RVRT JE R S PO R G g @‘
m #oY o .PEDCO
NISOC Sz sl gor ol 5 5B (ST s, slast @ E
toleg o)les PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 51 60 ramioo,l
BK GCS | Penco | 120 PI DW 0002 DO1
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS

1. (FOR TYPE OF VALVE REFER TO PID) 3 2

2 (FOR TYPE OF VALVE REFER TO PID) z 4

3. GASKET, 600# 3" 4

4. GASKET, 600# 2" 8

5. BOLTS AND NUTS 3/4"X110L 32

6. BOLTS AND NUTS 5/8"X90L 32

7. f?%?r’?@é 'OF VALVE REFER TO PID) 3/4" 2

8. FLANGE, 600# 3" 2

9. FLANGE, 600# 2" 4

10. PIPE, BE 3" HOLD

11. PIPE, BE 2" HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3"Xx2" 4

14. CAP, BW 3" 2

15. HALF COUPLING, SW 3/47 2

16. CAP, THRD 3/4" 2

17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2

18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2

SPECS: FNO5 / FNO7 / FS00 RATING: 600#

NOTE: DRAWING TITLE :

DISPLACER LEVEL TRANSMITTER

&

LEVEL GAUGE(SIDE—-SIDE)

(STANDPIPE)

SHEET

6 OF 6

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A C SOV RN RVRT JE R S PO R G g @‘
SR o
NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
:OL*.‘.% °)LQ;‘ PIPING ASSEMBLY DRAWING
-t T T
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 8L Sl
BK GCS PEDCO 120 Pl DW 0002 D01
PIPING INST.
VESSEL NOZZLE
T
¥ ONLY FOR THESE TAGS
1 TAG NUMBERS
L LIT-2111
o) LIT-2119
(0p) LIT-2162
L LIT-2221
> G LIT—2251
ONLY FOR THESE TAGS
—
~_
VESSEL NOZZLE
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 RATING: 150#
NOTE: DRAWING TITLE -
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING DIFFERENTIAL PRESSURE TRANSMITTER
MATERIAL SPECIFICATION (DOC NO. BK—GCS—PEDCO-120-PI-SP-0001). ON VESSEL
SHEET | 1 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

A S S8 ol wd s LR PR KW PSP

SR

Sz sl gor ol 5 5B (ST s, slast

<,

PEDCO

1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

NISOC @ %@
soles o)les PIPING ASSEMBLY DRAWING
: , 1 i oot
053-073-9184 255 |l oS ol [ ol |ty | Sk p] S | e 6 51 o2 She
BK 6cs | pebco | 120 PI DW 0002 DO
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1 GATE / BALL VALVE, FLG, 150# 3r 5
: (FOR TYPE OF VALVE REFER TO PID)
2 GATE / BALL VALVE, FLG, 300# o 4
- (FOR TYPE OF VALVE REFER TO PID)

3. GASKET, 150# 3" 4

4. GASKET, 300# 2" 8

5. BOLTS AND NUTS 5/8"X90L 64

6. DELETED

GATE / BALL VALVE, SW "

7. (FOR TYPE OF VALVE REFER TO PID) 3/4 2

8. FLANGE, 150# 3 2

9. FLANGE, 300# 2" 4

10. PIPE, BE 3" HOLD

11. PIPE, BE 2" HOLD

12. EQUAL TEE 3" 2

13. RED.TEE 3"x2" 4

14, CAP, BW 3 2

15. HALF COUPLING, SW 3/4" 2

16. CAP, THRD 3/4" 2

17. 100 mm, NIPPLE, PBE (FOR GATE VALVE) 3/4" 2

18. 100 mm, NIPPLE, POE/TOE (FOR GATE VALVE) 3/4" 2

19. BLIND FLANGE, 300# 2" 2 TO BE DRILLED FOR 1/2" WELDED MALE CONNECTION
20 100 mm, NIPPLE, POE/TOE 1/2" 2
SPECS: ANO1/ ANO4 / ANO5 / ANO7 / AS00 RATING: 150#

NOTE: DRAWING TITLE :

DIFFERENTIAL PRESSURE TRANSMITTER

ON VESSEL

SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

‘ S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

NISOC &Qgé)gTégo&,%T)g )'LfOSTJ;q%;)@b;-T @gg E

:OL*.‘.% °)LQ;‘ PIPING ASSEMBLY DRAWING
: , 1 taio oot
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 6 51 63 0
BK GCS PEDCO 120 Pl DW 0002 DO1

\

=
w bRl
Z 2" FLARE WELD\
\ \
2 N N
o /HORIZONTAL PIPE \
o \ /
SPECS : ANO1/ ANO4/ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING:  150#/300#/ 600#
FNO5 / FNO7 / FS00
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIRPING CORROSION COUPON & CORROSION PROBE

MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001), GAS SERVICE

(INSTALLATION IN 12’0 CLOCK)

SHEET 1 OF 1

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

&
SR

S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

PEDCO

NISOC Ssigggé)ﬂé,@-o&;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
toleg o)les PIPING ASSEMBLY DRAWING
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 54 rmie o)l
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
\ \
(ZD % HORIZONTAL PIPE %
a
a [ |
\ /
l_- 99 \
o 27 FLARE WELD §
2 \
N

K

AN

SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00
FNO5 / FNO7 / FS00

RATING: 150# / 300# / 600#

1.

NOTE:

FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING
MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

DRAWING TITLE
CORROSION COUPON & CORROSION PROBE
LIQUID SERVICE
(INSTALLATION IN 6’0 CLOCK)

SHEET 1 OF 1

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

db

S COURUE T RVOSIVE JC RN 1 BRI RYS C IR

<,

MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

SHEET

1 OF 2

NISOC Ssigggé)ﬂé,@-oki;;,ﬁ)g )'SOSTJ;E&%;)@L);-T @:‘é‘é¥ %
soles o)les PIPING ASSEMBLY DRAWING
053-073-9184 D e et e N B R 56 5155 sanioo)l
BK Gcs | pebco | 120 PI DW 0002 DO1
BY PIPING ‘SUPPLIED BY INSTR. __BY PIPING
INSTALLED BY PIPING
FLOW DIRECTION
MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 3/4" 2
2. BOLTS AND NUTS 5/8"X75 L 8
3. FLANGE, 300# 3/4" 2
SPECS : ANO1/ ANO4 / ANO5 / ANO7 / AS00 / CNO5 / CNO7 / CS00 RATING: 150# / 300#
NOTE: DRAWING TITLE -
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING ROTAMETER

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

SR

‘ S CTURE RS KVOSV ISV S RO RYS SIS e @‘
h

PEDCO

FLOW DIRECTION g

NISOC S g5l mor ot 5o B (ST s, St C‘gg}%%éls %j
toles o,k PIPING ASSEMBLY DRAWING
- . . N
053-073-9184 o592 |6 dm ferS o] s | iy [Sphe gyl S | e 56 51 56 She
BK 6cs | pebco | 120 Pl pw | ooo2 | Dot
BY PIPING ‘SUPPLIEDBYINSTR. __BY PIPING
INSTALLED BY PIPING

ol = 1
— LA

N
LA

MATERIAL SPECIFICATION (DOC NO. BK-GCS—PEDCO-120-PI-SP-0001),

MATERIAL LIST
SR.NO. ITEM SIZE QUANTITY REMARKS
1. GASKET, 300# 3/4" 2
2. BOLTS AND NUTS 5/8"x90 L 8
3. FLANGE, 300# 3/4" 2
SPECS : FNO5/FNO7 / FS00 RATING: 600#
NOTE: DRAWING TITLE :
1. FOR RATING AND FULL MATERIAL DESCRIPTION SEE PROJECT PIPING ROTAMETER

SHEET 2 OF 2

@@ ® PDF created with pdfFactory Pro trial version pdffactory.com



http://pdffactory.com

